
POS NO. SPARE PART DESCRIPTION PCS ITEM NO.

Contemporary conical kitchen faucet GN-4881-LM52 2845000N

1 Body 1 2845100

2 Hose weight 1 5300410

3 Spout pipe 1 2846150

4 Mounting pipe 1 2409940

5 Cartridge sleeve 1 2845120

6 Rotating sleeve 1 2845190

7 Handle body LM52 1 2845140

8 Pullout body Micro10 1 2846330

9 Hose M15x1-M8x1-200 1 2900115

10 Cartridge 25-90° 1 2388775

11 Handle arm LM52 1 2845220

12 Body DW10-9/16"-24UNEF 2 2034980

13 Cartridge nut 1 2845160

14 Pullout connector 1 2846400

15 Nut M32x1,5 1 2409910

16 Traingular base 1 2409950

17 Decorative cap 1 2845170

18 Pullout insert Micro 1 2846370

19 Aerator Micro 1 2846350

20 Washer fi31/51x1.5 1 2812425

21 Rubber washer 1 2409930

22 Screw M5x25  ISO-4027 1 9903313

23 Check Valve AV14/7 1 2846945

24 Knob 1 2846460

25 Sliding ring 1 2016700

26 Pull-out spout insert 1 2886750

27 Screw M4x8 ISO4762 2 9903027

28 Check valve 2 2000385

29 Ring 1 2846420

30 Plug M5 1 2845270

31 Sleeve for 12mm hose 1 2152590

32 Ring 1 2845200

33 Gasket with strainer Ø12,8 2 2062730

34 Hose M15x1-M15x1 L=1800 1 2046675

35 Soldered pipe L=160 2 2816990

36 Hose  9/16-24UNEF-M8x1-450 2 2901305

37 OR 18.3x2.4 3 9916160

38 O-ring 17x1,5 1 2846360

39 O-ring 41x3,5 1 9917385

40 O-ring 7,1x1,5 2 9917051

41 Spring 1 2846380


